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(D) ©) B) (A) QUESTIONS Q-1
piafens lise | 1
(1,0) 0,0 o, (1,0 N bk S
The co-ordinate of origion are
i " p -.;.mgfwy,;.}lfg:f&ymmv 2
" -
Graph of equation in the form y=c have y-co-ordinate
LAM}V Ll 1" brsl E¥ A ~4_L"LH'(H = ._7.31_ 3
Arithmetic Mean Mode Harmonic " Z(;)
mean Mean H = —xiscalled
2(2) .
137 3 30 13 0.13 as percentage is S Frdo13 ! 4
..*/’:((f( ) ..*«’/..56&" e ~w¥gf‘a”uﬁalbaﬂ 5
Consequent Mean Antecedent | Extreme | Inaratioab “a” is called
g /"44.’_,;11,50,000&.’ WS e Cusdsd | 6
20000 15000 5000 10,000 Ushr on a wheat crop produced on natural ..c:..g(} ¢
resources among Rs. 1,50,000 is e
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3 2 4 The share of widow in inherited property (In presence
of children) is
S jedeaied | el | ehtad<ud 2d | esjedented Jiert wellad | 8
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Markup Premium Bonus Profit which is paid by the bank on the deposits is called
dpsALL N o A S Fjeeigg | 10
Excise duty { Income tax Sales tax Tax The tax in addition to the price of the article is called |
Ju Vs »iE Lo -ujigf/nu:a” il
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e MPISIUE 12 162127 | .12
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ce b 3T UE3VBIVE | 13
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Part. I

Answer briefly any Six parts from the followings.
Express 0.065 decimal as percentage.
Ifa:b=2:3 find the ratio 6a: 2b
Find the value of x in the proportion 20:50::8:x

Find CP when SP = Rs 100 profit 337 %

Find the selling price when MP = Rs 2760 Discount = 5%

Find Marked price when SP = Rs 2400 Discount = 4%

Rate of tea in Pakistan is Rs 2.1 per pound Find the rate per

Kilogram 1 pound = 0.4536 Kilogram

Waseem invest Rs 5000 at 5 71% per anum profit. Find the

amount of profit at the end of year.

2 ; g
Express 487 % percentage as decimal, give your answer

to 3 places of decimal.

Answer briefly any Six parts from the followings.
Calculate zakat on gold amounting to Rs:11,10,000
Calculate the Ushr on a Wheat Crop amounting to
Rs:3,50,000 produced by artificial resoures.

Calculate Zakat on gold amounting Rs. 15,00,000.
Khalid works 6 days— week. Find his gross monthly
wages; if this rate of pay is Rs: 200 per day.
Determine the radical and Radicand 4 + 3va

1
Express in exponent form 37—
P P \/—;1_"
Write in the radical form and evaluate (1000)2/ 3

Simplify and give answer in exponential form. 21 2batyts

Simplify V4 x V128
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Answer briefly any Six parts from the followings. 6x2=12 «U:/ 4 /’ ERY 4 /‘“” Pl l{c—J/ e;_ufJJ(y» .4;’ dlr’
Find the 5" term of a GP 4,12, 36,... -q/(}vﬁ“ 54 4,-12, 36, Ads D
Find AM between x-1 ,x+7 _q/r}v»,gfuyﬂ Ix-1,x+7  Gi)
1f A={2,3,4} , B={1,3} then find the two binary relation in B x A. 3B x A TnA=(234) , B=(13} /1 GiiD)
I£X={0,3,5} , Y={2,4,8} then find two binary relation in X x Y. 8 X x Y T Y=(248) X={035) ST Gv)
Represent the H(5,0) on graph paper. VQ//:LF/,:g.-.El/f/H(S,O)Jz’EJ W
Convert the 97 °C into °C if °C =3 (°F ~32) o€ =2CF -32) Sl She I F ()
Find the median, if the data is 3,5,6,8,8,9, 10 3,5,6,8,8,9,10 _uir S e s (vid)
Find the GM between 9 and 5. _L[/()”L/:(_}/buﬁu@ (viii)
Find the first three terms of a,=n+3 <t /7 (:L" (Terms)(; N L%Ja,,=n+3 Gx)

Part II (2 -
Note: Attempt any Three Questions. 8x3=24 .u:f Vs /‘? .-.gmé.-.-.mmf c_éf:.:.)
Six men can paint a house in four days. How long it would take la(//uy,:‘;l’ufjlu:!é/&i; u.’fu]ulgf/‘ig(d;% (a)s
to paint the house if three men are employed. ,Zu‘:/.f/)//\j:&/ Zu?é_?
Ifthere is 10% discount on marked price of a television and still make a 5"-(‘3;6{/5;;4)/6 10&)&3’4&26»402}&4/& (b)
profit of 5% [fit is sold in marked price, what is profit percentage. {n“l.;fﬂég;éy(g’lf&p){,d(pulfu&{;&fl%tn
Work out the share of each, if the inherited property amounting JJJ SIniE Hale g( .:,Jwv.:/?SOOOOLﬁ ufl (a)6
to Rs. 750000 is left by a deceased, who also left a widow, two -ér}”:,;'ufngw’.{u,;u:@vgmui;z«ug
sons and one daughter.
Evaluate —2; X (%)3 —:-%Z: ,Z{J’fg—:- X (1—95-)3 = % ®
A.B.L Bank gained Rs. 8034 on its loan at 6 compound mark up 18034l ke Ao LT Col6rdler @)
in 2 years. What amount did it lend? b ¥ i,uéf i J_ZJ’ la/,:/}bédl?
[fthe A.M between a and 10 is 40, then find the value of “a”. ~LZ/(’1"¢<:"L;3 ?rz401md‘?c)yu£ 1 Oula//i ®)
If the total income of a person is Rs 700000 with exempted 1500004&11’1:5%.:1700000&/- I’J{ J J;...{!/T (a)8
amount of Rs 150000. Find the Tax chargeable @ 4.5%. -(n.l/gfgbljb"c;clﬂ,(#SZ?_n¢)‘§JA;:/
IfA={2,3,4},B={3,6,9,12} and C={4,6,8,10} then verify. = BTC={4,68,10)5B={3,69,12} A={234}S1 (b)
AUBUC)=(AUB)UC AUBUC)=(AUBUC-J/S
Draw the graphof y = —g —3 y= ——g == % _u,f""{.ﬁ!j{abuéfd) (a)9
The following table shows the distribution of the average LuilfﬁﬂJu;/b;!Luf4O Sdwedits ©®
marks of 40 children in the end of year examinations. &ﬂ&ﬂ@}yd}ﬂgﬂ-;.@u 4“@4_}5/"7&‘)&
Draw a histogram. ~&
Average Mark 1-20 21 -40 41-60 61-80 81100
Frequency 2 4 19 12 3

940 - 0921arp - 30000



et et e

e 2 o ot e

o@-’é:/i’ad’;&fztﬂ/’bw&wfLh.ali{:/uc,uﬁuu’b

L LN LSt PAPER CODEs#" (21 Jr U1/

Sap42-2
Note:- Y ou have four choices for each objective type question as

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

question. Write PAPER CODE, which is printed on this question paper,

et st e et o et &

S F At g B gy (¢ =#2) 0921

Ly u'a);

PAPER CODE 5268

15 AS

lu:’;;éé(@lﬁ_{ﬂ/r‘nglﬁuﬂl

2017 -19 to 2020-22 ¥

(&) S L/J/
LeserlJy MQK@z-wiz“_:Dmc:B:Aauz;ﬁAgLJ«r s
u::u:‘(,(i_/r{_/&ﬂd'_//;fu)/'bup

2420020

I .wgd/}:?

A, B, C and D. The choice, which you think, is ¢

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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(D) () (B) (A) QUESTIONS Q1
Lo S y Ll -q.b”k{“ﬁru-‘&id)/cjf—x(ﬂpff il
Abscissa Straight line Origin Ordinate | The perpendicular distance of point from x-axis is called
; \ —plnfebs Lo | 2
(1,0) (1,1 o, (0,0 N LA TR e
The co—ordinate of origin are
bl bl Lol 9, K Xy et X = Xitxptxztetdn | 3
‘ n
Arithmetic Geometric Weighted il e g = X1 +xa+Xx3++Xn is called
Mean Mean Mean Mean value of n
BT i
s 5K | et di -Lﬂ%‘—(&ff‘a”ui&ﬂf atb| 4
Mean Consequent Antecedent Extremes | Inaratioatb “a” is called
7 . s 4
204 20 35 35% r in terms of percentage 1s U:&JML} o 5
“‘.:__Gyzc.—b/&uJ BFJ?:‘C .6
5.5% 4.5% 2.5% 3.5%
L Zakat is deducted at a rate of
edsyfod | medlnges :,1:"<,4;/':¢~?: edmg fad ﬁ_gbnuu’ﬁ k7
=31/ ] =33/ =3/ Loss is there when
Sp>Cp SP = MP SP<CP SpP=CP
81‘{/2/5/{ ﬁt-g‘}-g_.l . . “I,Lv('r/ véaﬂ)‘fb{gﬁJﬁiJ?L'{é@Lj:vé 8
5 s /f.C QU /s . ' _
& ‘Ldlbf ¢ A machine installed by the bank to dispense cash to
] Scanner Computer
Card Reader ATM | customer is calied an
signd | Wl E P i k| wdF JFdeeeidns’| 9
Excise daty | Income Tax Sale Tax Tax The tax in addition to the price of the article is called
Y’ :,w{‘; Iy e -u::a/gf%”u:\/? 10
Natural .
Radicand Integer ij:;aer Radical | InV3,3iscalled
L swFe oF ~ -u}igfyd/uﬁ/;@éuwf/ AT
Mantissa I;Ia“o;‘al Realpart | Characteristic | Inthe logarithm of a number the decimal part is called
umber
e ilh Vs S gyl ss | 2
. 5 6.
| Radical Integer Exponent |  Base In4’, "4 is called
2V2 V2 ~2v2 +2V2 e b Pl n L8N 13
G.M between “1”and “8” is
30 162 161 160 e Ve i e t26,18 o | 14
as0f2,6,18..... 18 ‘
i) {23} (12} {13} U-A=tinA={1}U={123}]1 | .15
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Part- I
Answer bri_eﬂy any Six parts from the followings.
Express the fraction ];36 as percentage.
Express the ratio % : % in its simplest form.
If a:b=2:3thenfind6a:2b

Find the CP, when SP = Rs. 851 ,Loss=8%

Find the Selling Price, when MP = Rs. 2760, Discount = 5%

Waseem invests Rs. 5000 at 5 % % per annum profit annually.

Find the amount at the end of year.

Find the selling price if CP =Rs.480, Profit = 3%

1£45% of the students in a school are girls. What percentage are

boys.
Find SP, when (CP) = Rs. 9600, Profit = 10%
Answer briefly any Six parts from the followings.

Calculate Ushr on a wheat crop amounting to Rs. 3,50,000

produced by artificial resources.
If a deceased left a property of worth Rs 15,00,000,
workout the property, if he left behind a widow.

If the price of an air conditioner is Rs 40,000 then work out

the amount of sales tax on it at the rate of 16%.

Khalid works 6 day-week. Find his gross monthly wage, if

his rate of pay is Rs 200 per day.

If the gross pay of a person is Rs 45,000, then calculate his

net take home salary, after deductions of Rs 400 as income

tax, Rs 1200 as benevolent fund, Rs 1500 as GP fund and
Rs 400 as group insurance.
Simplify and give answer in exponential form
2[125x9y15

" s 2%x6°
Simplify and express with positive indices 757,77
Evaluate Log 200 + Log 3
IfLog x = 4.4236,find x
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Answer briefly any Six parts from the followings. 6x2=12

Find the term indicated in the sequence 1,3,12,60....a;.
Find the 11th term ofa G.P 2,6,18.....
Find the G.M betwgen -2 and -8.
Find AMbetweenx? +x+1:x2—x+1
IfA={2,3,4} and B={1,3}. Find AxB and BxA
1fX={0,3,5}, Y={2,4,8} then establish two binary
relations in XXY.
Represent the point F (~3,7) on the graph.
For the data 3,6,5,8,9,8,1 0, Find Median.
Change 97 °F into °C When °C =2 (°F - 32)

Part I

13,12.60...07 -2 0 15 F S8t i s
el 1182608, A

LEE e L P U8 -2

va.{(k’»:(]?'uyj;ﬁ xr—x+1nxt+x+1
L BRAIAXB JxB={13}sA={234))]
i, S XX YT Y = {2,480 X={03,501

Note: Attempt any Three Questions. 8x3=24

A triangle has sides of length 3cm, 4cm, 6¢m. Find the ratio of

the lengths of the sides to one another.

Distribute Rs. 200,000 as a profit in a business regarding three
persons, if their share are in the ratio 3:2: 5,

The inherited property amounting to Rs 2000000 is leftby a
deceascd. He left behind a widow and two sons. Workout the

share of each.

Prove that log E%] + log [%J -2 log [5/9] = log2

XYZ bank gained Rs. 8034 on its loan at 6% compound markup

in 2 years. What amount did it lend?

If the arithmetic mean between 5 and b is 10, then find the value of b.

The total taxable income ofa person is Rs 4,30,000. If he is
given rebate Rs. 3000 on the tax chargeable, then workout the
amount he has to pay as an income tax @ 4.5%.
IfU={4,6,89,10},A={4,6} and B={6,8,9} then

verify (A N B)¢ = A° U B¢

Draw the graphof y=Xx +7

Construct a cumulative frequency polygon (that is , an ogive) for

the given data.

&5 6 SR (3 5

LSk 963,6,5,8,9.8,1030 5
°C = 2(°F —32) £/ b £°CS97°F
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180348 Kkt AP LY fri6td L2
-&J/;z:.;/zd,vg-éfb/.gﬁédv
et A b 106s3 U » Lbuis Sl

b et fie g 143000004 T -SSP
f'/! EILZ,/&JA,.57-¢.f;’.%8lgd)¢/;?;.7{ru3000/’gfg

K L3
Kt/ mJg

- EiB={6,89}) 9A={4,6} U={4,689,101.1

(AN B)° = A° U BE
‘é‘{ﬂfb’y:x +7

e D F oS L s

20-29

30-39

40-69 ,

Age JUdL S 0-9 10-19
frequency s47 10 20

30

20

5|

942 - 0921arr - 25000

(a)s

()

(a)6

M)
(a)7

®
(a)8

®

(a)9
(b)




